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« H2tA9| Embedding 52 AHE5t7| o CHREE7} 74t O]2| A Lhel THo A2 O O| E{H| O] ATt BEO|
ALY
FEct s

o 722 EOrA 0|22 T 9| word2vec & 11 2| & (https://code.google.com/archive/p/word2vec
(https://code.google.com/archive/p/word2vec))
= 20138 #1222 EOrA O[RZZJ 74,
o ARHIE LSt : GloVe(https:/nip.stanford.edu/projects/glove (https://nip.stanford.edu/projects/glove)) -
2014'3 ARHE E CStD HLXtE
= 9|7|I|C|OF GO|E{ e HH 2 Z H|O|E{0|| M 7t 2 =1k 70| Z0o] EZ0f CHsl TS AlLtsh =.

In [5]: M

from IPython.display import display, Image
import os, warnings

warnings.filterwarnings(action="ignore')

01 HjO|E{ &=H]|

« %X ipynb =ES2| &9 EC(data_Imdb)0f| &= MHAS EO{EL

« O|O|Ef C}R 2 E URL : http://mng.bz/0tlo (http:/mng.bz/0tlo) (2t & & x)
.

In [6]: M

import os

imdb_dir = '../data_Imdb'
train_dir = os.path.join(imdo_dir, 'train')

o HIOJH =242l neg, pos E2E 9| LY SILIM 2 =2{2t. O| & textsOl| F7}.
« labelsOi= 37dQIX|, OFLX|E F7+
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In [7]: M

display(Image(filename="img/imdo_data.png"))

._lf CwlserswfrontwDocumentswWGithubwdata_imdbwirainwnegw0_3 txt - Notepad++

1 1t oYE B H7ls) 27w 23N Aoy HFM =70 W32 4@ 332 @@ ¢

EAK sHEHR R GE s Gbocag®x EBE ST FEEHo® BEDBE

3.4 HosxtB|

:':::: 1 Story of a man who has unnatural feelings for a

6_1.0xt a opening scene that is a terrific example of a

7 30d orchestra audience is turned into an insane, vi

i‘j':: chantings of it's singers. Unfortunately it sta

1026t time with no general narrative eventually makin

13.6d putting. Even those from the era should be turn
dialogue would make Shakespeare seem easy to a

In [9]: M
%%t ime

labels = []

texts = []

# 01. neg, pos 222
#02. txt MY s ol ot) textsOll =t
# 03. Z2EHYO0l 'neg'01H (0)=2 labelsOl I, 'pos'0lB (1)= labelsOl =t
for label_type in ['neg', 'pos']:
dir_name = os.path.join(train_dir, label_type)
for fname in os.listdir(dir_name):
if fname[-4:] == ' txt':
f = open(os.path.join(dir_name, fname), encoding='utf8")
texts.append(f.read())

o i
o

10

\;—__l

e

uin

jo

| J@
e

f.close()

i f label_type == 'neg':
labels.append(0)

else:

labels.append(1)

Wall time: 41.6 s

ot AEZ MEZ LHeCt.

localhost:8888/notebooks/Documents/Github/DeepLearning_Basic_Class/ch06_textC_pretrained.ipynb 2/17



2021. 5. 21. ch06_textC_pretrained - Jupyter Notebook

In [11]: M

from keras.preprocessing.text import Tokenizer
from keras.preprocessing.sequence import pad_sequences
import numpy as np

In [12]: M
max_words = 10000 # CIOIEIALOINA DS Bl =2 10,0002 SHOEH AFE.
maxlen = 100 # 10000 SOHILX JEH I (FIHAMSE )

tr_samples = 1000

#
val_samples = 10000 #

oY Mo

g 8==2 10000H & LICH
AH I ©

10,0000 S LIC

=
=)

Al2tA 2| Tokenizer2 O| 2510 HIAEE 'THo]. {2 HEt

In [13]: M

tokenizer = Tokenizer (num_words=max_words)
tokenizer.fit_on_texts(texts) # SIAE 2=

o
>
e
10
HU
)
o
18
o
o
Im

chofet 40| Tl a| HEf 2ol

|

In [14]: M

word_index = tokenizer .word_index
print('%siel DRet E2= HUSLICH. " % len(word_index))
print(word_index)

73998702 NRs EZS FHUSLIC.

{'the': 1, 'a': 2, 'and': 3, 'of': 4, "to': 5, "is': 6, 'br': 7, "in':8, "i':9,
"it': 10, 'this': 11, 'that': 12, 'was': 13, 'movie': 14, 'as': 15, 'for': 16, 'w
ith': 17, 'but': 18, 'film': 19, 'on': 20, 'not': 21, 'you': 22, 'are': 23, 'hav
e': 24, 'be': 25, 'his': 26, 'one': 27, 'he': 28, 'all': 29, 'at': 30, 'they': 3
1, 'by': 32, 'so': 38, 'like': 34, 'an': 35, 'from': 36, 'who': 37, 'just': 38,
‘or': 39, 'her': 40, 'if': 41, 'about': 42, 'out': 43, "it's": 44, 'there': 45,
'has': 46, 'some': 47, 'what': 48, 'good': 49, 'no': 50, 'more': 51, 'when': 52,
'even': 53, 'up': 54, 'very': 55, 'would': 56, 'only': 57, 'she': 58, 'time': 59,
'my': 60, 'really': 61, 'had': 62, 'which': 63, 'bad': 64, 'story': 65, 'were': 6
6, 'see': 67, 'their': 68, 'can': 69, 'me': 70, 'than': 71, 'much': 72, 'well': 7
3, 'been': 74, 'we': 75, 'do': 76, 'get': 77, 'because': 78, "don't": 79, 'peopl
e': 80, 'how': 81, 'into': 82, 'other': 83, 'first': 84, 'made': 85, 'then': 86,
'will': 87, 'make': 88, 'most': 89, 'any': 90, 'could': 91, 'also': 92, 'him': 9
, 'too': 94, 'them': 95, 'way': 96, 'movies': 97, 'after': 98, 'its': 99, 'grea
"1 100, 'think': 101, 'acting': 102, 'plot': 103, 'characters': 104, 'watch': 10
, 'character': 106, 'being': 107, 'two': 108, 'seen': 109, 'never': 110, 'did':
11, 'films': 112, 'off': 113, 'show': 114, 'over': 115, 'know': 116, 'little': 1

3
t
5
1
17, 'where': 118, 'ever': 119, 'many': 120, 'better': 121, 'why': 122, 'your': 12
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In [21]: M

rige

sequences = tokenizer.texts_to_sequences(texts) # EIAEZ M2 H
print(type(sequences) )
print(sequences[0:1])

<class 'list'>

[[65, 4, 2, 142, 37, 46, 6155, 1520, 16, 2, 3717, 483, 43, 17, 2, 631, 130, 12, 6,

2, 1715, 437, 4, 1504, 210, 2, 298, 6, 636, 82, 35, 2094, 1167, 2957, 32, 1, 884, 4,

44, 5441, 410, 10, 2995, 1504, 1, 209, 59, 17, 50, 808, 1419, 911, 215, 10, 38, 94,

113, 1512, 53, 152, 36, 1, 1105, 136, 25, 636, 113, 1, 385, 56, 88, 2136, 299, 908,

5, 2, 837, 9573, 20, 2, 1846, 657, 44, 121, 71, 22, 222, 101, 17, 47, 49, 693, 32, 8

59, 100, 859, 381, 2996, 3, 9321, 69, 25, 109, 3227]]

In [22]: M

np.ndim(sequences), len(sequences), type(seguences)

OQut[22]:
(1, 17597, list)

In [23]: M

data = pad_sequences(seguences, maxlen=maxlen)

labels = np.asarray(labels)
print("CIOIE ElASl 3J[:", data.shape)
print('2lol2 ElAS 3J[:", labels.shape)

Clole ElAel 221 (17597, 100)
dlole A2l 201 (17597,)

In [42]: M

# tr_samples = 200 # 2 MES 2000 LICH
tr_samples = 200 # 2 MEES 2000 LICH
val_samples = 10000 # 2 =2 10,0000 LICH

HIOIEIE IS8 ME HS MEE &8
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In [43]: M

# MEO =AUZ UJ 20 (BE M
# N OIOIHE A&LIC.

indices = np.arange(data.shape[0])
np.random.shuffle(indices)

it
=
H
4N
c
o
Hoi
==
o0l
0
0z
I8
=
10
[
Q

data = datalindices]
labels = labels[indices]

X_train = datal[:tr_samples]

y_train = labels[:tr_samples]

X_val = datal[tr_samples: tr_samples + val_samples]
y_val = labels[tr_samples: tr_samples + val_samples]

X_train.shape, X_val.shape, y_train.shape, y_val.shape

Out [43]:
((200, 100), (10000, 100), (200,), (10000,))

Glove TH0o{ 2 H|d

o Li2{2t7| : https://nip.stanford.edu/projects/glove (https:/nip.stanford.edu/projects/glove)
= Download pre-trained word vectors
= Wikipedia 2014 + Gigaword 5 (6B tokens, 400K vocab, uncased, 50d, 100d, 200d, & 300d vectors,
822 MB download): glove.6B.zip
= 4097} HOI(SE& FHO 7} ObLl E3)0) Th3t 100%HRI0] QBT HEf

mjn

=3t
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In [44]: M

display(Image(filename="img/globe_6B8_100d.png"))

B0t 88 o glove 68.100d.txt E3 ‘

Affof] -0.1529 -0.24279 0.89837 0.16996 0.53516 0.48784 -0.58826 .
-0.17982 -1.3581 0.42541 0.15377 0.24215 0.13474 0.41193
0.67043 -0.56418 0.42985 -0.012183 -0.11677 0.31781 0.054177
-0.054273 0.35516 -0.30241 0.31434 -0.33846 0.71715 -0.26855
-0.15837 -0.474e7 0.051581 -0.33252 0.15003 -0.1299 -0.54617
-0.37843 0.64261 0.82187 -0.080006 0.078479 -0.96976 -0.57741
0.56491 -0.39873 -0.057099 0.19743 0.065706 -0.48092 -0.20125
-0.40834 0.39456 -0.02642 -0.11838 1.012 -0.53171 -2.7474
-0.042981 -0.74849 1.7574 0.59085 0.04885 0.78267 0.38497
0.42097 0.67882 0.10337 0.6328 -0.026595 0.58647 -0.44332
0.33057 -0.12022 -0.55645 0.073611 0.20915 0.43395 -0.012761
0.089874 -1.7991 0.084808 0.77112 0.63105 -0.90685 0.60326
-1.7515 0.18596 -0.50687 -0.70203 0.66578 -0.81304 0.18712
-0.018488 -0.26757 0.727 -0.59363 -0.34839 -0.56094 -0.591
1.UU3Y U.ZU0bb4d
'.)—0.1897 0.050024 0.19084 -0.049184 -0.089737 0.21006 100%}&

-0.54952 0.098377 -0.20135 0.34241 -0.092677 0.161 -0.13268

-0.2816 0.18737 -0.42959 0.96039 0.13972 -1.0781 0.40518

0.50539 -0.55064 0.4844 0.38044 -0.0029055 -0.34942 -0.099696

-0.768368 1.0363 -0.2314 -0.47121 0.57126 -0.21454 0.35958

-0.48319 1.0875 0.28524 0.12447 -0.039248 -0.076732 -0.76343

-0.32409 -0.5749 -1.0893 -0.41811 0.4512 0.12112 -0.51367

-0.13349 -1.1378 -0.28768 0.16774 0.55804 1.5387 0.018859

-2.9721 -0.24216 -0.92495 2.1992 0.28234 -0.3478 0.51621

-0.43387 0.36852 0.74573 0.072102 0.27931 0.92569 -0.050336

-0.85856 -0.1358 -0.92551 -0.33991 -1.0394 -0.067203 -0.21379

-0.4769 0.21377 -0.84008 0.052536 0.59298 0.29604 -0.67644

In [45]: M

glove_dir = '../data_Imdb/glove'
embeddings_index = {}

# I Sl 27|
f = open(os.path.join(glove_dir, 'glove.6B.100d.txt"'), encoding="utf8")

# XHMOF SO
# LIHXl= YEgt =X
for line in f:
values = line.split()
word = values[0]
coefs = np.asarray(values[1:], dtype='float32")
embeddings_index[word] = coefs
f.close()

print('%sIfel SOl HIEHE FHQUSLICH. " % len(embeddings_index))

400000912 &0 HEHE EASLICH
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In [46]: M

type( word_index.items() )

Out [46]:

dict_items

In [47]: M

word_index. items()

cnt =0
for word, i in word_index.items():
print(word, i)
cnt += 1
if cnt==15:
break

the 1
a2

and 3
of 4

to 5
is6

br 7
in8
i9

it 10
this 11
that 12
was 13
movie 14
as 15
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In [48]: M

embeddings_index.get('the')

Out [48]:

array([-0.038194, -0.24487 , 0.72812 , -0.39961 , 0.083172, 0.043953,
-0.39141 , 0.3344 , -0.57545 , 0.087459, 0.28787 , -0.06731 ,
0.30906 , -0.26384 , -0.13231 , -0.20757 , 0.33395 , -0.33848 ,
-0.31743 , -0.48336 , 0.1464 , -0.37304 , 0.34577 , 0.052041,
0.44946 , -0.46971 , 0.02628 , -0.54155 , -0.15518 , -0.14107 ,
-0.039722, 0.28277 , 0.14393 , 0.23464 , -0.31021 , 0.086173,
0.20397 , 0.52624 , 0.17164 , -0.082378, —-0.71787 , -0.41531 ,

0.20335 , -0.12763 , 0.41367 , 0.55187 , 0.57908 , -0.33477 ,
-0.36559 , -0.54857 , -0.062892, 0.26584 , 0.30205 , 0.99775 ,
-0.80481 , -3.0243 , 0.01254 , -0.36942 , 2.2167 , 0.72201 ,
-0.24978 , 0.92136 , 0.034514, 0.46745 , 1.1079 , -0.19358 ,
-0.074575, 0.23353 , -0.052062, —0.22044 , 0.057162, —0.15806 ,
-0.30798 , -0.41625 0.
0.

-0.

—0.

, 37972 , 0.15006 , -0.53212 , -0.2055
-1.2526 , 0.071624,

70565 , 0.49744 , -0.42063 , 0.26148 ,

-1.5638 , -0.30223 , 073438, -0.28312 , 0.37104 , -0.25217 ,
0.016215, -0.017099, 38984 , 0.87424 , -0.72569 , -0.51058 ,

-0.52028 , -0.1459 , 0.8278 , 0.27062 ], dtype=float32)

In [49]: M

# max_words = 10000 # GIOIEIAIOIA JIE Bl =2 10,0002 SHO{BH Al

In [50]: M

# 01. embedding_matrix2 022 =J|s}
#02. 28 SHO{E 100XHE S H=SXE MM UHERA I=SXZ2 I8
embedding_dim = 100
embedding_matrix = np.zeros((max_words, embedding_dim))
print(embedding_matrix.shape)
for word, i in word_index.items():

embedding_vector = embeddings_index.get(word) # 2 SFO{E JI=X

if i < max_words:

i f embedding_vector is not None:

# ZHIE G AN e H0o=s 25 001 LI

embedding_matrix[i] = embedding_vector

(10000, 100)
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In [51]: M
embedding_matrix[0:2]

Out [51]:
array([[ O 0. 0. 0. 0
0 0. 0. 0. 0
0 0. 0. 0. 0
0 , 0. , 0. , 0. , 0
0 , 0. , 0. , 0. , 0
0 0. 0. 0. 0
0 0. 0. 0. 0
0 0. 0. 0. 0
0 0. 0. 0. 0
0 , 0. , 0. , 0. , 0
0 , 0. , 0. , 0. , 0.
0. , 0. , 0. , 0. , 0.
0. 0. 0. 0. 0
0 0. 0. 0. 0
0 0. 0. 0. 0
0 0. 0. 0. 0
0 , 0. , 0. , 0. , 0
0 , 0. , 0. , 0. , 0
0 0. 0. 0. 0 ,
0. , 0. , 0. , 0. , 0. ]
[-0.038194 , -0.24487001, 0.72812003, -0.39961001, 0.083172
0.043953 , -0.39140999, 0.3344 , —0.57545 , 0.087459
0.28786999, -0.06731 , 0.30906001, -0.26383999, -0.13231 ,
-0.20757 , 0.33395001, -0.33848 , -0.31742999, -0.48335999,
0.1464 , —0.37303999, 0.34577 , 0.052041 , 0.44946 ,
-0.46970999, 0.02628 , -0.54154998, -0.15518001, -0.14106999,
-0.039722 , 0.28277001, 0.14393 , 0.23464 , -0.31020999,
0.086173 , 0.20397 , 0.52623999, 0.17163999, -0.082378
-0.71787 , -0.41531 , 0.20334999, -0.12763 , 0.41367 ,
0.55186999, 0.57907999, -0.33476999, -0.36559001, -0.54856998,
-0.062892 , 0.26583999, 0.30204999, 0.99774998, -0.80480999,
-3.0243001 , 0.01254 , -0.36941999, 2.21670008, 0.72201002,
-0.24978 , 0.92136002, 0.034514 , 0.46744999, 1.10790002,
-0.19358 , -0.074575 , 0.23353 , -0.052062 , -0.22044
0.057162 , -0.15806 , -0.30798 , -0.41624999, 0.37972
0.15006 , -0.53211999, -0.20550001, -1.25259995, 0.071624
0.70564997, 0.49744001, -0.42063001, 0.26148 , —1.53799999,
-0.30223 , -0.073438 , -0.28312001, 0.37103999, -0.25217
0.016215 , -0.017099 , -0.38984001, 0.87423998, -0.72569001,
-0.51058 , -0.52028 , —-0.1459 0.82779998, 0.27061999]1])
2y 7@
In [52]: M

max_words, embedding_dim, maxlen

Qut[52]:
(10000, 100, 100)
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Az

In [53]: M

from keras.models import Sequential
from keras.layers import Embedding, Flatten, Dense

# 10000002 SHO{(HE4)E 10000 X LHIE
# input_length : AI2 A2l 20|

model = Sequential(

mode | .add(Embedding

—~ ~—

max_words, embedding_dim, input_length=maxlen))

mode| .add(Flatten())

mode| .add(Dense(32, activation='relu'))
mode| .add(Dense(1, activation="'sigmoid"))
mode | .summary()

Model: "sequential_2"

Layer (type) Output Shape Param #
embedding_2 (Embedding) (None, 100, 100) 1000000
flatten_2 (Flatten) (None, 10000) 0
dense_4 (Dense) (None, 32) 320032
dense_5 (Dense) (None, 1) 33

Total params: 1,320,065
Trainable params: 1,320,065
Non-trainable params: 0

DEo GloVe YH|Y ZE3}7|

 Embedding $2 otLt| 7tEX| BES 7H L CL.

. O/ WHL2 2D RE A4 WHO|D 2R Yas A QA0 A28 THof HEIYLCH
o DEO| A HEY 592 Embedding 50| &H|El GloVe #ES 2=
In [54]: M
embedding_matrix.shape
Out[54]:
(10000, 100)
In [55]: M

model . layers[0].set_weights([embedding_matrix])
model . layers[0].trainable = False # Z=JIX8 92 EmbeddingsS =&

cl = —
B 23 gt
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In [56]:

%%t ime

mode | .compile(optimizer="rmsprop",
loss="'binary_crossentropy',

metrics=['acc'])

history = model.fit(X_train, y_train,
epochs=10,

batch_size=32,
validation_data=(X_val, y_val))

ch06_textC_pretrained - Jupyter Notebook

mode| .save_weights('pre_trained_glove_model .h5")

Epoch 1/10

717 1

val_loss: 0.5977 -
Epoch 2/10

val_acc:

.7057

7/7 |

val_loss: 0.6093 -
Epoch 3/10

val_acc:

.7015

7/7 [
val_loss: 0.6870 -
Epoch 4/10

val_acc:

.7063

7/7 |
val_loss: 0.6673 -
Epoch 5/10

val_acc:

.6280

7]7 |
val_loss: 1.3681 -
Epoch 6/10

val_acc:

.7057

7/7 1

val_loss: 0.8051 -
Epoch 7/10

val_acc:

.7055

717 1

val_loss: 0.7738 -
Epoch 8/10

val_acc:

. 7057

7/7 |

val_loss: 0.9139 -
Epoch 9/10

val_acc:

.7062

717 1

val_loss: 4.9403 -
Epoch 10/10

val_acc:

.2949

717 1

val_loss: 0.8584 -
Wall time: 7.62 s

M

o OI

[

olr

el

[El
Jiok

val_acc:

.7031

2s

1s

1s

1s

1s

1s

1s

1s

1s

1s

149ms/step

108ms/step

114ms/step

112ms/step

107ms/step

108ms/step

111ms/step

108ms/step

112ms/step

103ms/step

loss:

loss:

loss:

loss:

loss:

|oss:

loss:

loss:

loss:

loss:

1.7266 -

0.6651 -

0.4555 -

0.2316 -

0.1127 -

0.0757 -

0.0316 -

0.0136 -

0.0108 -

1.2749 -
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In [57]: M

import matplotlib.pyplot as plt

acc = history.history['acc']

val_acc = history.history['val_acc']
loss = history.history['loss']
val_loss = history.history['val_loss']

epochs = range(1, len(acc) + 1)

plt.plot(epochs, acc, 'bo', label='Training acc')
plt.plot(epochs, val_acc, 'b', label='Validation acc')
plt.title('Training and validation accuracy')
plt.legend()

plt.figure()
plt.plot(epochs, loss, 'bo', label='Training loss')

plt.plot(epochs, val_loss, 'b', label="Validation loss')
plt.title('Training and validation loss')

plt.legend()
plt.show()
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Training and validation loss
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from keras.models import Sequential
from keras.layers import Embedding, Flatten, Dense

model = Sequential()
mode | .add(Embedding(max_words, embedding_dim, input_length=maxlen))

model .add(Flatten()
mode | .add(Dense(32,
mode | .add(Dense( 1,
mode | . summary ()

)
activation='relu'))
activation="'sigmoid'))

mode | .compile(optimizer="rmsprop',

|oss=

metri

history = model.fit

mode | .save_weights(

'binary_crossentropy ',
cs=["'acc'])

(X_train, y_train,

epochs=10,

batch_size=32,
validation_data=(X_val, y_val))

'basic_trained_glove_model.h5")

Model: "sequential_3"

Layer (type) Output Shape Param #
embedding_3 (Embedding) (None, 100, 100) 1000000
flatten_3 (Flatten) (None, 10000) 0
dense_6 (Dense) (None, 32) 320032
dense_7 (Dense) (None, 1) 33

Total params: 1,320,065

Trainable params: 1

,320,065

Non-trainable params: 0

Epoch 1/10

7]7 |
val_loss: 0.6277 -
Epoch 2/10

] - 1s 139ms/step — loss: 0.6769 — acc: 0.5842 -
val_acc: 0.7057

loss: 0.4245 - acc: 0.8627

7/7 [
val_loss: 0.6188 -
Epoch 3/10

] - 1s 108ms/step
val_acc: 0.7056

717 1

loss: 0.2320 — acc: 0.9927

val_loss: 0.6262 -
Epoch 4/10

] - 1s 114ms/step
val_acc: 0.7035

717 1

loss: 0.0982 — acc: 1.0000

] - 1s 112ms/step

val_loss: 0.6464 -
Epoch 5/10

val_acc: 0.7056

7/7 |

] — 1s 11ims/step — loss: 0.0474 - acc: 1.0000

val_loss: 0.6568 -
Epoch 6/10

val_acc: 0.7054

717 [

loss: 0.0246 — acc: 1.0000

] - 1s 103ms/step

val_loss: 0.6537 -
Epoch 7/10

val_acc: 0.7047

7/7 |

] - 1s 111ms/step - loss: 0.0135 — acc: 1.0000

val_loss: 0.6768 -

val_acc: 0.7047
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Epoch 8/10

717 [ ] - 1s 112ms/step - loss: 0.0075 — acc: 1.0000 -
val_loss: 0.6904 - val_acc: 0.7048

Epoch 9/10

6/7 [ > ] — ETA: 0s - loss: 0.0047 - acc: 1.0000
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In [52]:

acc

= history.history['acc']

val_acc = history.history['val_acc']
loss = history.history['loss']
val_loss = history.history['val_loss']

epochs = range(1, len(acc) + 1)

plt.
plt.
plt.
plt.

plt.
plt.
plt.
plt.
plt.

plt.

10 A

0.9

0.3 4

0.7 4

0.6 4

05 A

0.3 4

0.6 4

04 4

0.2 A

=

plot(epochs, acc, 'bo', label='Training acc')
plot(epochs, val_acc, 'b', label="'Validation acc')
title('Training and validation accuracy')

legend()

figure()

plot(epochs, loss, 'bo', label='Training loss")

plot(epochs, val_loss, 'b', label='Validation loss')

title('Training and validation loss')
legend()

show()

Training and validation accuracy
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In [54]: M

%%t ime
test_dir = os.path.join(imdb_dir, 'test')

labels = []
texts = []

for label_type in ['neg', 'pos']
dir_name = os.path.join(test_dir, label_type)
for fname in sorted(os.listdir(dir_name)):
if fname[-4:] == ' txt':
f = open(os.path.join(dir_name, fname), encoding="utf8")
texts.append(f.read())

f.close()

if label_type == 'neg':
labels.append(0)

else:

labels.append(1)
seqguences = tokenizer.texts_to_sequences(texts)

x_test = pad_sequences(sequences, maxl|en=maxlen)
y_test = np.asarray(labels)

Wall time: 49.5 s

In [55]: M

mode! . load_weights('pre_trained_glove_model.h5")
model .evaluate(x_test, y_test)

782/782 | ] - 2s 3ms/step - loss: 1.2108 - acc: 0.6196

Out [55]:

[1.2107512950897217, 0.6195600032806396]

In [ ]: M
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